


Science

@ A wooden rod is broken into two equal € The picture below shows a hammer about
pieces. The mass and volume of each new to hit a nail.
piece are exactly half the original rod’s mass
and volume.
l—

Which statement is true about one of the new

pieces?

A. The new piece has half the original
density because it has half the original
volume.

B. The new piece has half the original density y
because it has half the original mass.

C. The new piece has the same density as
the original rod because it is the same

.. Which statement describes the mechanical
mass as the original rod.

. . energy of the hammer when it strikes the nail?
D. The new piece has the same density as

the original rod because it is the same A. The mechanical energy is lost.
material as the original rod. The mechanical energy is created.

B
C. The mechanical energy equals zero.
D. The mechanical energy is transferred.

@ The diagram below shows four objects in a
beaker filled with liquid.

< ) Use the Plate Movements diagram on the
@ @ reference sheet to answer the question.

O At 36,000 feet below sea level, the Mariana
@ Trench is the deepest point in the ocean.
Which process formed this trench?

A. two plates pulling apart from
\JL/ each other

B. two plates sliding horizontally past

Which object most likely has the same each other

density as the liquid in the beaker? C. two plates colliding with each other

A. object W and both plates pushing upward

B. object X D. two plates colliding with each other and
C. objectY one plate sliding underneath the other
D. object Z



@ The landform in the picture below is located
in an area of Utah where the climate has

been dry for thousands of years.

How was the landform most likely changed
by the environment over time?

A.

B.

Floodwaters quickly washed away large
chunks of rock.

Intense sunlight quickly split away small
chunks of rock.

Glacial ice slowly carved away the top
layers of rock.

Windblown sand slowly chipped away
tiny particles of rock.

@ The diagram below shows layers of ocean floor

labeled X.
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Which type of rock will eventually form at
location X?

A.

B.

extrusive rock, because the layers are on
the ocean floor’s surface

sedimentary rock, because sediments are
continuously being deposited

fine-grained igneous rock, because the
sediment is microscopic

layered metamorphic rock, because the
ocean floor is layered



o In the 1940s, the Eurasian milfoil was

introduced to American waterways. This plant
grows fast, crowding out native species in
rivers and lakes in nearly every state in the
United States.

Which conclusion about introduced species
is most supported by the Eurasian milfoil
example?

A. Introduced species can dominate and
harm an ecosystem’s biodiversity and
stability.

B. Introduced species can fit in and benefit
an ecosystem’s biodiversity and stability.

C. Introduced species can die out but still
damage an ecosystem’s biodiversity and
stability.

D. Introduced species can die out and not
harm an ecosystem’s biodiversity and
stability.

o

A student is classifying an animal using

the dichotomous key below. The animal has
lungs, scaly skin, and a backbone, and it lays
eggs on land.

—

. Does the animal have a backbone?

a. Ifyes, goto2.
b. If no, it is an invertebrate.
Does the animal have lungs?
a. If yes, goto 3.
b. If no, itis a fish.
Does the animal lay eggs in water?
a. If yes, it is an amphibian.
b. If no, go to 4.
Does the egg develop inside the mother?
a. If yes, the animal is a mammal.
b. If no, goto 5.
Does the animal have scaly skin or feathers?
a. If it has feathers, it is a bird.

b. If it has scaly skin, it is a reptile.

Based on the key, which type of animal is the
student classifying?

A. amphibian

B. fish

C. mammal

D. reptile




@ Which human embryo is the most developed?

@D




@ A utility company has proposed building a natural gas power plant next to a lake. The company claims
burning natural gas will release only harmless gases such as water vapor (H,O) and carbon dioxide
(CO,), but some environmental scientists disagree. The picture below shows the proposed power plant.
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a. Explain one way the proposed power plant might affect the atmosphere.

b. Explain two ways the proposed power plant might affect organisms in the lake ecosystem.



